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1-6 83 67 50 33 17 0

Ответы

1. 3 192

2. 2 183

3. 2 392

4. 629

5. 1 554

6. 1 392

Используйте матрицу для решения задачи.

1) 57×56 =

50

50

7

(50 × 50)
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(7 × 50)
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(7 × 6)
42

6

(50 × 6)
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2) 59×37 =
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9
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(9 × 30)
270

(9 × 7)
63

7

(50 × 7)
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3) 46×52 =

40
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6

(40 × 50)
2 000

(6 × 50)
300

(6 × 2)
12

2

(40 × 2)
80

4) 37×17 =

30

10

7

(30 × 10)
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(7 × 7)
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7
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5) 37×42 =

30
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7

(30 × 40)
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(7 × 40)
280

(7 × 2)
14

2

(30 × 2)
60

6) 48×29 =

40

20

8

(40 × 20)
800

(8 × 20)
160

(8 × 9)
72

9

(40 × 9)
360
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